

If for $n \geq 1$ we consider $f_n : \mathbb{R} \rightarrow \mathbb{R}$ a real valued function, and $u_n : \mathbb{Z} \rightarrow \mathbb{Z}$ then we denote

$$f'_n(x) := \lim_{h \rightarrow 0} \frac{f_n(x+h) - f_n(x)}{h} \quad \text{and} \quad u_n^k := u_n(k)$$

If for $n \geq 1$ we consider $f_n : \mathbb{R} \rightarrow \mathbb{R}$ a real valued function, and $u_n : \mathbb{Z} \rightarrow \mathbb{Z}$ then we denote

$$f'_n(x) := \lim_{h \rightarrow 0} \frac{f_n(x+h) - f_n(x)}{h} \quad \text{and} \quad u_n^k := u_n(k)$$

If for $n \geq 1$ we consider $f_n : \mathbb{R} \rightarrow \mathbb{R}$ a real valued function, and $u_n : \mathbb{Z} \rightarrow \mathbb{Z}$ then we denote

$$f'_n(x) := \lim_{h \rightarrow 0} \frac{f_n(x+h) - f_n(x)}{h} \quad \text{and} \quad u_n^k := u_n(k)$$